W~ TReE: CR7L ¥4
plotallknoydGonnections) [FPZ] R =1/299.2 FEZ =80.0% B$5E =TI /50 @ Ik =38385810&15

WS R RS- 72 [FPW] ¥E3E =1/98.1 #EZE =500% B5% =)L /33-55-77 @ Ik =383&5810&12

R AT —---4fH — T

R - A MR /

W7 REH--- L e

(o]
o
| R LEEET s -~ °o °
(e}
(e}
yd : AN

" flasl5i6)
’,//’
-

[(MAX i E]
[(ZFEET—V) — f_f/[FPZ] E15%/90-11R)}---1,368{{%
= I 1518 /9C- 2R)--- 249
<SEHEGER= 7 E> [FPw] (12 {& /8C-10R)--- 863 {&

(12 {@ /8C- 5R)--- 432 {@&

SZRIAE, [EASEH] CRYET, [BHEM] TOEMIZIACET, Presented by TKC (HRR&H 24 - /7 - 2RI 8 X)




